3 2
<§x+4) +4a =bx*> +cx+19 @ W, A5 a, b, ¢ oA (a+ b)c

of ghe?

N
®)
| —
®
&
O
&

® -19 @

3 \° 3 )
Ex +2><§x><4+4 + 4a

9
= 1x2+12x—|— 16 + 4a

16 +4a =19
3 9
a—Z,b—Z, c=12

3 9




2.

(2x-a)P =4+ 12x+b LW, a+b G2 (H a, b=

@ -12 @ -6 @6 @ 12

® 18

B

(2x)2 —2x2xXa+ (—a)? = 4x* —dax + a® O|BE
—4a=12, a=-3

b=da’>=9

a+b=(-3)+9=6




3. (x-
(x = 1)(x+ 1)(x2 + 1) QA7NstH?

@ x-1
X @ x2-1 (@)4
x* -1

@ x>+
1
® x*+1

(-2 +1)=xt-1




4. (x-4)(x-6)=x>+Ax+B L, 5 A, B} A+ B 727

O -24 @ -10 ® 4 @ 10 @14

(x=4)(x=6)=x2—(4+6)x+4x6 =x*>+Ax+ B,
wakA A = -10,B = 24°]1, A+ B = (-10) + 24 = 14°]t},




5.  2(x-3)2+4 (x+2)(3x+ 1) 7+H3] 519

D 2 -5x+20 @ 5x%+5x+20 @ 5x2 —5x—20

@ 5x%2 4 5x-20 (@)5x2—5x—|—20

~&B

2(x=3)2+ (x+2)(3x+ 1)

=2(x2 = 6x+9) + (3x2 + x + 6x + 2)
=2x2 - 12x + 18 4+ 3x? + Tx + 2
=b5x? —5x+ 20




r

429

(x=y+2)(x—y-3)2 A7shd] 74 44

@ix-»+Mx-9-3 @ (x=(+5)x—(r-3))
® {(x+2) - yH(x=3) -y @ {x-(y+2)H(x-y) -3}
® ((x—y) + x— (- 3))

AL ((x-y) +2H(x—y) - 3} 22 FOl A x -y = 1 2 X5}
ANt Ao] 7HAF A A5}t




7. (x-1)(x-2)(x+2)(x+3)= AMNS ), x* 9] AlFE FHA?

® 3 @5 ® 7 @-5 @)

B

(x=1)(x—2)(x +2)(x +3)
= {(x=1)(x + 2)H(x - 2)(x + 3)}

= +x-2)(x*+x-6)

22 0] ASE FHoF SHRE, 627 + 22 — 242 = ~Tx2 o A] 22 9]
AsE -Telth




8. 2032 & ANSHE g 3 b WelR A B L

@ (a+b)(a-b)=a®-b?
@(a+b)2:a2+2ab+b2

® m(a+b) = ma+ mb

@ (ax+ b)(cx+d) = acx® + (ad + bc)x + bd

® (a+b)(c+d)=ac+ bc+ad+ bd

2032 — (200 + 3)2 O|B& ¢ — 200, b — 3 0|21 5}
(a+b)* = a® + 2ab + b* & ©]-&5HH Hr}.




9. x+y=4, xy=-2% 0 x? +y* 9 32?7

® 5 @ 10 ® 15 @20 ® 25

x> +y? = (x+y)?-2xy
— 4% 2% (-2)
=16+4 =20




10. (x+2)2-(x-1)(x+2) & A5t 7ds] YepfiH?

@ 2x24+4x+6 @ 2x% —4x @ x2-7Tx+2
(@)3x+6 ® 3x-6

(FA) =(x+2){x+2-(x-1)}
— (x4+2)x3=3x+6




11.

4+ 497} (ax+b)* O] FEfO] HAAF
o) & Fatolet. (@ a> 0, b<0)

> E

> =g —12

2E!

o]

(2x) 4 2 x 2x X (=3) + (-3)’= (2x - 3)2
=4x> - 12x+9




12. (v2-2) (av2+4) S AMSIAEY bv2+2 7F H3Ach. o)t a+b
o] gke Fatolet. (&, a, b H)

> =

> g 1

~&B

(%’5—1) =2a+4V2-2aV2-8
=bV2+2

20 -8 =2 SLa=>5

4-2a=4-10=-6=0>

a+b=5-6=-1




13. (x+3)2-6(x+3)—16, x2+3x—10 & F52I QI

> =

> &=eh: x+5

~&B

(x+3)°-6(x+3)-16
=(x+3+2)(x+3-8)
=(x+5)(x-5)

2 +3x-10=(x+5)(x-2)
L EEA AT E i x+5




14. (x-3)° +6(x—3)+ 89 x9 A4} 191 F AAA ] FO Q)
o8 o, QA9 g

® x+3 @ x+2 @ 3x+2
@Qx ® 2x+3

~&B

x-3=t=2EOH

2+6t+8=(+4)(t+2)
=(x-3+4)(x-3+2)
— (x+ Da-1)

SxFED+(x-1)=2x




15.

(x+4)? —2(x+4) - 159 x o] Al7H1 Q1 F A4 ] FO 2 Q1
we)d o, 5 AxAo] e

D)2x+6 @ 2x-6 ® 2x+8

@ x*+6 ® 6

x+4=12 X3
2-2t-15=(t-5)(t+3)




16.

S 5 (22 4 4x)? + 3(x* 4+ 4x) -4 S A5ES] HS o,

@ x? +4x @ x-2 ((@(x—k@2

@ 2+4x+1 ® x24+4x+3

B

x2 4 4x =t 2 | golH
P+3t—4=(-1)(t+4)
= (2% +4x—1)(x* + 4x +4)
= (x® +4x—1)(x+2)?




17. B2 F (x+5)2 -2(x+5) - 15 2] A5l AL?

@x+8 @ x-5 @ x-1 @ x-7 ® x+14

B

x+5 =12 23IH
(x+5)2-2(x+5)-15=r2-2t-15
= (1-5)(t+3)
= x(x + 8)
m2bA] 1944= x, x + 8°]Th




& (m+n)? = 2(m + n)m — 8m?& ot
dAAE gL
@0 @ -2n ® min @

m+n=X2 2 3FstA
X2 — 9mX — 8m?

(X ~ 4m)(X + 2m)
(

m+n—4m)(m + n + 2m)

= (n—3m)(3m+ n)
. () Gt )




A A(p+9)? -4(p+q)p + p?
9

m
I"‘O o_?_l'.

D (p+a)° @) (p +29)*
@ (p-q) ® (p-29)




20.

8-Ta(a-2)+da?(a-2)*=(a+A)(a+B)(a+C)(a+D) &2
g, A+ B+ C+D & Fstofeh

> E

> ®™et: 4

(

(a—4)(a+2)(a-1)°
(a-4)(a+2) )
S A+B4+C+D=(-4)+2+(-1)+(-1)=—-4







22. (x+y)(x+y+6)+9 5 AT olgte] A4Rafstn?

@(x+y+3)2 @ (x+y-3)?
® (x-y-3)2 @ (x+y+3)(x+y-3)

® (x+y+3)(x-y-3)

~&B

x—I—y—AEX]QfO}tﬂ

(F4) = A(A+6)+
_A2+6A+9_(A+3)2
= (x+y+3)?




23. (2a-3b+1)2-(2a+3b-1)?=8a(Aa+Bb+C) L W, A+B-C
= F-shofzt.

>

[> Hell A+B-C=-4

2a-3b+1=X, 2a+3b-1=Y= X25}H
(2a-3b+1)2 - (2a+3b-1)?
=X’-YV’=(X+Y)(X-Y)

= 4a (-6b+ 2)

=8a(-3b+1)

L A+B-C=0+(-3)-1=-4




24. A% a, b, ¢ o ot (5x + a)(bx + 6) = 10x% + cx — 54 & o,
a+b+c 9 & ool

>

> ®Me: 5

(5x + a)(bx + 6) = 5bx* + (30 + ab)x + 6a
5bx? + (30 + ab)x + 6a = 10x? + cx — 54

5b = 10 Lob=2
6a = —54 Soa=-9
304+ab=c, (30—18) =12 Soe=12

ca+b+c=-9+2+12=5




25. the2 J4ES B Uetd Zolnk [ [ ¢to] Eoid T
= yadet A2?

@ 2x3 —8x% — 10x = 2x(x® —4x - 5)

=2x(x-5)(__)

O (x+y)2+3@x+y) +2°A[ |2 A & x@%t

DO x-1,x-y @ x-1,x+y ® x+1,x-y
@x+1,x+y ® x,x+y

@ 2x3 - 8x% — 10x = 2x(x? — 4x - 5)
=2x(x-5)(x+1)




26. (x-2)x*-3(x-2)x-10(x-2) E J5=olstH?

@ (-2 (x-5) (x +2) @ (x-2) (x+5)(x+2)
® (x=2)(x-5)(x+3) @ (x-2)(x+5)(x-2)
® (x=2)(x+5)(x-13)

B

A=x-22 X5y
(x=2)x* -3 (x-2)x—10(x—2)
= Ax? - 3Ax - 10A

= A(x? - 3x - 10)
=A(x-5)(x+2)
=(x—-2)(x-5)(x+2)




27. (a-b+3)?—(a+b+3)? 25| g ALY

@ -4b(a-3)

@ —4a(b+3) ® -8b(a+3)
@ —4a(b-3) @—4b (a+3)

~&B

(a-b+3)?-(a+b+3)>
={(a-b+3)+(a+b+3)}
{(a-b+3)-(a+b+3)}
= (=2b) (2a + 6)

= —4b(a+ 3)




